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2 | U8 yol § ddol U fddhed BT 8 Ik SIfTY |

(i) There are in all 26 questions in this question paper. All
questions are compulsory.

(ii) There are 10 parts in Question No 1. Each part is a Multiple
Choice Question. Here four options are given in each question.
Write the correct option in your answer book. The question asked
in each section carries one mark

(iii) Question No 2 to 5 carry one mark each. Question No 6 to 15
carry two marks each. Question No 16 to 23 carry three marks
each and Question No 26 to 28 carry four marks each. Question
No 28 is based on Case study.

(iv) There is no overall choice in Question paper, however an
internal choice has been provided in two questions of 2 marks,
three questions of 3 marks and all questions of 4 marks each. You
have to attempt only one of the given choices in such questions.
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1.(1)Aa RIS Iq~ HRAT 5— 1
Human body does not produce-
(@) TroTT=H
Enzyme
(b) DNA
(c) =AM
Hormone
(d) faera=

Vitamin

(ii) THA R FIf9ae Jovgs F3eivY §RT A8l 99137 ST Hdhdl o— 1
Amine that can not be prepared by Gabrial phthalimide synthesis-
(a)CH3NH:2
(b)C2HsNH:
(c)CsHsNH:
(d)SwRIad # & Pig 8T
None of thr above
(iii) =1 arfafdear #— 1
In following reaction-

COClI

H- .
Pd/BaSO,

A

A
Ais-
(a)CeHsCHO
(b) CeHsOH
(c) CeHsCl
(d)CeHs-G-CeHs

O
(iv)geR ¥ TUReId STaRASI URHTT] BT HHIT BT B— 1
Hybridization of Oxygen atom present in Ether is-

(a)sp?



(b) sp®

(c)sp

(d) sp3d

(V)P H | B9 A1 gRT 9T T8l Blar § —

Which of the following is not affected by temperature-

(@) e
Normality
(b)  HAreterar
Molality
(c) HreRar
Molarity
(d) wrHerar
Formality

(vi) =1 rfafear & &9 Jruara® &1 &Rl &R & 8-
In following reaction which substance serves as reducing agent-
14 H*+ Cr,07+ 3 Ni —> 2Cr*3+7H,0+3Ni*?

(@) Ni

(b) Cr207'2
(C) H,O
(d) HI

(vii) T T @ife sififdar & foy <) fadie @ s&Ts 8l 8—
The unit of rate constant for a zero order reaction is-
(a) Arer " |
mol L sec?
(b) AreT2 <=
mol? L?sec?
(c) ez
L2sec?
(d) dra" <

mol? Lsec

(viii) vfewer Torrss vd Aifem ag & 99 @1 AMWfBIT Heamr a—
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Reaction between alkyl halide and sodium is called—
(a)ges srffdar
Wourtz reaction
(b) ®res atfafdar
Kolbes reaction
(C) FAH=E U
Clemensen Reduction
(d) SRR & | T8 &
None of the above
Ae—f Tl | <1 HEl @I i@ (A) 3R ®RvT (R) @ wY # faffeq faar
AT | 310 Sk A9 Ry T $rs & AR 3ifdhd -
Note-In following questions two statements are labeled as Assertion and
Reason. While answering these questions, you are required to choose any
one of the following four responses.
@) A @7 R TF1 9T & TOT R, A & el IR el 2 |
Both Assertion and Reason are correct and the Reason 1s a correct
explanation of the Assertion.
(b)A T R Sl A & offd R, A & Hel IRAT el Rl ¢ |
Both A and R are correct but Reason is not a correct explanation of the
Assertion.
€) A I g ofh R 2|
A 1s correct, R 1s incorrect
(d) A derm R ST 3T & |
Both A and R are incorrect
(ix) STfIHAT(A)— BIFTH BT AfTHTH MMRITBROT HAEAT 46 B! B | 1
The highest oxidation state of Chromium is +6.
BRU(R)—SIHTH & ns T (n-1)d Ferdi § 6 RAT geiag™ B1d 2 |
In ns and (n-1)d orbital contain 6 unpaired electrons.
(X) SMFTPHAT(A)—T=+l FHEIIAT IHIS= dlRl~e Jad Iydgadrel ATd d Bl
= 1
Linkage isomerism arises in coordination compounds containing
abmidentate legends.
HROI(R)—SHIGT oiFl=s § &I J1dT URATY 81 2 |

Ambidentate Ligands has two different donor atom.
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2. Ra v 9RI—
AT YT I SBIS ... Bl T 1

Unit of mole fraction is...........

3.U% 9o H TAIe FRUMART § a7 $ofle gaaitd 2 | I8 fha UeR & 9d 2 |
In a cell anode is negatively charged and cathode is positively
charged.What type of cell is this?

4. K4[Fe(CN)e] & Fe o Sudsgddo wel foda+ g7 1
What is coordination number of Fe in Ks[Fe(CN)g]?

5.%1dTee foa faerfia # urr Sirar 287 1
In Which Vitamin Cobalt is found?

6.<gfdeTs URTS &1 278-1a Sifdd &1l ferRay? 2

What are nucleic acids? Write their biological functions.
7. SISSCIaRTT AIAfEAT fhd dad B RIS a0 Afed 9y | 2
What is diazotization reaction? Explain with chemical equation.
8.f = srfafgaret # affafera e wiaxor forlRa— 2
(a)RTSTR—CHA 1fifda
(b)zmea—arsH 3rfafdar

(a) Reimer-Tiemann Reaction

(b) Schotten-Baumann Reaction
9. HRYT qATSI— 2
Give reasons-
(a) FARIE=I AHERE gfoRemu= ifafear & fow &3 feareiiea sy 2 |
Chlorobenzene is less reactive towards nucleophilic substitution
reaction.
(a) FARIBH &I I didel § &7 ST © |
Chloroform is stored in coloured bottles.
10.f Susdgsarst Aiffel & IUPAC A forRau— 2
Write IUPAC names of following coordination compounds.

(i) Ka[Hgl4] (i) [Co(NH3)6]Cl3

3ferar

dlere fFd Hrd 7SR Aftd TSy |
What is Chelate? Explain with suitable example.
11. STl At H M*2(5q) T @ FHDbIT AT DI ITOET HIfoTY | (M T
URHTY] BHIH=27) 2




Calculate Magnetic moment ofM*?,4)in aqueous solution. (atomic

Numberof M =27)
31eqdT

81 a1g @1 87 oIS grgell A gad U WY O B Sooid DI AT $HD
SUANT  FaTsY |

What are alloys? Name an alloy which contains lanthanide metals.
Mention its uses.

12.R9g ITY o gor Bife Bl ARG Bl A3y AMBRBI & URMAD ATl
R R TE BRAT B | 2

Prove that half life period of first order reaction does not depend on
initial concentration of reactants.

13. &b A Bl GeaT fIRay qer ot Afafeari g | 2
Write the structure of a dry cell and also give cell reactions.

14,76 e A orad 71 iifear gl 8, @ for A\d dd fava (ECcen)
e "9 h (e 3Ho1(AGP) &1 aRBeAT BIfTI— 2
Calculate Standard Cell Potential(E%.) and standard Gibbs energy(AG°)
for a galvanic cell in which following reaction takes place.

2Cr+ 3Cd*2aq) —>  2Cr*33q)+3Cdys)

[Given E° Cr*3/Cr=-0.74 V; E® Cd*?/Cd=-0.40 V]

15.80 &1 M faRay qem s9a &1 Agaqul SWINT |HSISY 2
State Henry’s law and mention its two important applications.

16.f4 AU T UeH & T & MR WR Ul & Ik SIfoT—

On the basis of given diagram answer the following questions-

Papplied > =

+ Piston
m Fresh water Sea waler él

container conlalner

/

r
SPM

(i) forz & fou T wdbH 1 AHfaRay | 1/2
Name the process occuring in the given diagram.
(i) foctra® &1 varg foa fem # ger 87 1/2
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To which direction do the flow of solvent take place?

(iii) U= f3reel d UM HRI? 1
Define semipermeable membrance.

(iv) SIRIGd UHH BT Th ISTANT IRy | 1
Werite one use of above process.

17. ()99 BISSIoM Soldgls & AMifhd o 918y 1
Draw labelled diagram of standard hydrogen electrode.

(i) AP BIZSIO Soldels ®I SHAYIYT Soldgle Rl Hed &7 1

Why Standard Hydrogen Electrode is called reversible electrode.

(iii) 99T BTS|IoM Soidgle H wifedd =id offid wifead &1 wr gad1sy 11

Write function of platinum black coated platinum in Standard Hydrogen
Electrode.

IDECI

o1 arfafdar arer 9 & forg emf sma iforg—
Calculate the emf of a cellin which following reaction takes place.
Ni¢)+ 2 Ag*(0.002M) —>  Ni*?(0.160 M)+2Ags)
feam g (Given) E%e=1.05 V
18. [Pt(NH3)(Br)(Cl)(Py)] & =t saifacia wwmaadt foRay | g=% & fobaq
FHIGIS] YBIRIeG FHIGIIAT ST & 7IHSIEY | 3
Write all Geometrical isomers of [Pt(NHs)(Br)(Cl)(Py)] and show how
many of these will exhibit optical isomerism. Expalin.
19. f=raifafEaret @ gof Sy derr g St @ IUPAC =+ forRag—
[1+1+1]

(i) CH3-CH=CH,+HBr—msss (Peroxidg)

(ii) CHs.CH-CHs+aq KOH

r
(III) CeHs-Br + Mg BRIl

Heat

20. fAErsgom AMNfEaT IR & MR R WAfHe, fgdie o e
Uehigall H 3R W DIy | 3
Distinguish primary, secondary and teritiary alcohols on the basis of
dehydrogenation products.

v

»
»

3rergr (OR)
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T raelipl D IRAT HIfSTU—
Explain following observations-
(i) ©Hf TS @ o § IfE srelly BiaT 2 |
Phenol is more acidic than ethanol.
(i) p-TESIBITA BT TATIH O-ATSSIHITA I 3NfeId BT © |
Boiling point of p-nitrophenol is higher than o-nitrophenol
(iii) SR ST # ®H fderd Afds A= H,SO, # 21fere faera grar 2 |
Ether is less soluble in water but highly soluble in conc. H,SO4
21. =1 gRacHl & oy e FHIBRoT SIfoTg— 3
Give Chemical equation for following conversions-
(i) Hfcayd wre I wiifessss
Calcium formate to Formaldehyde
(i) <reET A dwifesgrssToluene to Benzaldehyde
(iii) s~ifeserzs | d~is® URTS Benzaldehyde to Benzoic acid

22. 1 BIAT © Sd— 3
What happens when-
(i) ufele STeta faeas & a/ie | far o=l 2
When aqueous solution of aniline reactswith bromine.
(ii) TSl ®T g 9o KOH & |1 T &-d ¢ |
When Amide are heated with bromine and KOH.
(ili)  #frar ArEARS @ LiAlH, 8RT S0affd axd 7 |
When methylc cyanide is reduced by LiAlH,.

23.(1) o 3FIAT 3Fd FT 27 o I 37 gRT Sletid fderad # ey amae s
JHR T 2 | 2

What are a amino acids. How a-amino acid forms Zwitter ion in
aqueous solution?

(i1) ey TravT fhd ded &7 1
What is reducing sugar?
24.(i) e srfafdear wife der nfdadmdr H MR e HIfvTY | 2
Distinguish between order and molecularity of a reaction.

(i) ~rarafe e o Hace Rigra aHsey | 2

Write collision theory of chemical reaction.
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31T
(i) Yo dife o sifafear & foly axEmdis! FHTGld I FHIHRUI
[Al=[A]oe™
B geafed IR |
Derive exponential form of the integrated rate equation [A]=[A]oe™ for
first order reaction.
(i) TP v dife & rfdfear &1 97 Rerid 1.97x10% mint 2| sifdfear
DI AGIMY AT BIRN?
Rate constant for first order reaction is 1.97x10* sec™. Calculate half
life period for the reaction.

25. Th FEfAE AffTE [A] § 6207% HEA, 10.34% TS dAT 27.59%
RIS B | AfH &I a9 T 29 = | Ig AP STfere ATHHS DI =id

8T BRAT IR JAISIBTH YRIET0T <l © | I8 A &Ry KMnOy g1RT ATaiTehd
B TR 31T [B] 2T & 3R BRBRY gRT IaRd 89 W Uedbd [C]a9ma1 2|
AT A, B, C o Uga ISugdd RIS FHIDHRON §RT HIoly | 4

In an organic compound [A] Carbon is 62.07%,Hydrogen is 10.34%, and
Oxygen is 27.59% present. Vapour density of A is 29. It does not reduce
tollons reagent but gives iodoform test. When it is oxidized by alkaline
KMnO4 acid [B] is formed and when {A] is reduced by Red Phosphorus
alkane [C] is formed. Identify compounds A, B, C by suitable reactions.
26. 9 oy 7Y ey & ue &R f=feiRad ueHl @ SR <%

f—<dife dca o & R4 fave® gerag[ (n—2)f siffdeed # uaer axd g | 4f 3R 5f
—3iffdced @I A & IITHU Uh—aaid ddl &I al SfEan 2| 4f —iffdess @
SRIAT Pl IS SH Pal el & | ofrged fo , f7 3R f14 F=aw @1 ReRar &
MR TR 3TeT—3TeT IITRITHROT ATy e & , BTallid Aad MH SfTaRITHRT
AT +3 T | WA W H gfg & Y olIAIged 3Tl & 3fbR H Frafd
®U H HA BT § T oITged Hehdd & WY H ST Sl & |

Read the passage given below and answer the following questions:

F-block elements are those in which ultimate electrons enter the (n-2)f
orbitals. There are two series of f-block elements corresponding to
filling of 4f and 5f-orbitals. The series of A4f-orbitals are called
lanthanides. The lanthanides f 0, f 7 and f 14 show different oxidation



states depending on the stability of the configuration, although the
most common oxidation state is +3. There is a regular decrease in size
of lanthanides ions with increase in atomic number which is known as
lanthanides contraction.

(i)

(ii)

(iii)

IATES Wl b Udh Waw bl A gdrgy Sl +4 IiTRIDHROT IRl
U oxa & foIT ST ST 27 1
Name a member of Lanthanide series which is known to exhibit

+4 oxidation state.

. . . . 1
HhHUT Tog ST Tol-id <N © | F1? 15

Transition elements show high melting points. Why?

HHH dedl D g AR AR UfRhAl ygell Uith ! ol H Tdh—gax o
ol A oo § | wHeEy w@li? 1~
Second and third rows of transition elements resemble each
other much more than they resemble the first row. Explain why?
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